lllll.rll.-._

- -
L B .u.--"*

=







o,

[l B &

'
e H ARt I

IT'S VERY WELL
MADE IN TAIWAN

i RE &

CNCEKimEBRE
POWER CHUCK FOR CNC LATHE

8 3 P 25 0 it [RR
HIGH SPEED HOLLOW HYDRAULIC CYLINDER

MEBWM - @M
HIGH PRECISION HARD JAWS AND SOFT JAWS

REERRN
POWER OPERATED COLLET CHUCK

18 % 19 A
FARE

Eternal Management

o {2 B e

Reliable Conception

ZFmE

Customer Satisfaction

SEEN
Reasonable Price

ERmE
High Quality




INDEX HEE

X =MohZemEsReE

3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITHOUT ADAPTOR)

EX3 = TR 5 O
3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR)

RIE=MESRPZEHERIT

3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR) (BIG HOLE)

B Moo sk g

2-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITHOUT ADAPTOR)

| P.o EIEekers) g

4-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR)

= Moh 5 H AR
3-JAW WEDGE TYPE NON THROUGH-
HOLE POWER CHUCK (WITHOUT ADAPTOR)

= M &R
3-JAW WEDGE TYPE NON THROUGH-
OLE POWER CHUCK {WITH ADAPTOR)

%

P.12 s aay g) gl
*2-JAW WEDGE TYPE NON THROUGH-
HOLE POWER CHUCK (WITHOUT ADAPTOR)

RE) 1 TUHEEIREER S

VERTICAL POWER CHUCK




(P.14 BEINES {iapie 3]
3-JAW WEDGE TYPE NON THROUGH-HOLE
WATERPROOF POWER CHUCK (WITH ADAPTOR)

B 2o 0 5 T
SUPER HIGH SPEED ﬂﬂﬂl.l-ﬂ_H-HDLE
ROTARY HYDRAULIC CYLINDER

8 - W - BUHEREL
SHORT TYPE CYLINDER

ch B 8 L
NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDR

Ch 50 88 R T

NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDR

Sa) el pi). il

NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDER

EL Bl AR IS

HYDRAULIC CYLINDER COOLANT
COLLECTOR

R EE T

! ol P.21 ;&2
STANDARD HARD JAW STANDARD SOFT JAW
' B R i R
POWER OPERATED COLLET CHUCK
| P.24 BUTESP { P.24 Liipal b AL ST
STEEL COLLET POWER OPERATED
COLLET CHUCK

B R ERE R

POWER OPERATED COLLET CHUCK



1989 £ @ EEar - IHWEIREPTHLE  BLLBEAMOREESE  RESEOREERRIL>HREH -
@ Ton Fou was established, factory was located on Tung San Rd., Taichung. The products were large bore hollow hydraulic
chucks and high speed hydraulic hollow cylinders,

1990 5 @ HBAFRBZLEEEERN - EETEESNTESE - EAEETHIBEATHDILE -
@ New product was launched and earn a high reputation in the marketplace. In order to extend our production, the
factory was moved to Chung San Rd. in Tai Pin City.

1996 £ @ =358 AMTRI CE MARK & -
@ Approved to CE-MARK Certificate by AMTRI VERTAS.

1997 £ @ $ECZREDBRATHESHIE - ARETHERREAES  BERATTIBSBIR B8 -
@ Obtained the excellent award of Taiwan Hydrauilc & Pneumatic Association. The factory was expanded again and
relocated to Pan | Rd. in Tai Pin City.

1999 7 @ BBESE AMTRL, 1S0-9002 58 - | | [— |
@ Approved with ISO 9002 quality certificate by U.K. AMTRI. T ¥ _ ——
2001 & @ S8/ O BRI [ BRI - Ebne) e
@ Awarded "It's very best made in Taiwan" for chucks and cylinders. =Sl
2005 = @ 150 9001 3832 - Wit f:;_'?:g}i |
@ Approved with ISO 9001 quality certificate by U.S.A. NSF. SO e |
2010 = @ SREM2% - BRER  HEBRA - AREDERK - "
REEERRE  EREALEEBE A BEX2BEHRRE -
@ After financial tsunami,the economics recoverad and the market
demand increased. To satisfy the market and raise quality, the factory @ e D
was expanded again and relocated to Da Li Rd in Da Li District. Cvrefcaieof Regtatrativs

P i Erdarpen Cn ik

P WL

R

ZAD

it & K & & 7 # R&D and Quality Assurance:




120 ERBRER (FEEE) TF3B

3-JAW WEDGE TYPE THROUGH-HOLE SERIES
POWER CHUCK (WITHOUT ADAPTOR)

Serration Pitch
4"=18":1.5x60°
217 24":3.0x60°

SRS ,F';‘F

M
| P '
L a 305
K| {3 g
o | |o 15° i =)
(1 1} g} =] L .
ml}
£ v
— =L
| L.
L B-M1
E X
b
Wif#8 SPECIFICATIONS
1B TIHEREEE TF3B
; il . s o TF3B
o T = Egecilication i F T & 1T 1 B 1 n i1 1 i ]
e BV B 1] ] mEE (EE)
L T { Jaw Stroke [Dis] mm) 54 B 55 | 74 88 | D& | 106 | 106 13 13
E 1] B A FER
L I - Flungar Stroks (mm} 10 g1 12 I 0 T b | 25 73 28 5
E 1:h'| —— P S —— - - - — - - — -
il 1m - £ BIEEE grvm| 110 135 185 20 254 | 38 450 530 810
(5] : - Hmﬂ“mﬂm R B, . T | 2w - e S -
i I.-;-.---'——- Digwsian dar wlanchire 5ot top jasrers] BPbn | 5 10 10 12 1B 8 40 40 50 50
.L'_ |
T s T ———l : :
P0G A0 N0 e S In'.l.i,l Yo s ot frmmp| 5300 TG BTN AR A200 3300 200 200 1700 101
SALER  REM [ ittc & |
S, Max. Draw Bar Pull Fores gty |10 (18283 |17.5 [1TEA)) 22 (2043) | 34 (46T | 43 (4365 55 [SEOE) THTIA0) | TIT20) | DOEITT)| ST
I 25 38 57 8 114 14 | 180 | 1m0 M | 2m
Clamping-force 8 Nax,
Diriws Bae puall {Total [awr foirc) A onom | mern | seizy | ievem | r31m | qrasse) | (1passy | (18355) | (zasev) | (23861)
00" Mesan of Inbertia oghwl] 0007 | ooota | pos? | oqEF | oas | o737 | 2273 | 4776 | @25 | 1eas
[ 1]
Witlght with standard soft top jaws s | 4 & 12.5 BB a7 i1 120 166 L mr

i hES
T — + 5 E C 10 12 15 15 15 15
M. i 40 RCl aas 235 285 27 278 | Soers| Seas| S2as| Sans| a6

aparale chuck|kyion|

BRTE DIMENSIONS
T T

TF3B
4 5 6| B 10 12 15 18 21 24
A 59 B0 -1 /M 0o | 1o | 133 | 133 148 | 148
B 110 136 168 | 210 254 304 381 450 530 810
CHa B85 110 1450 170 220 220 3000 300 380 380
=] 708 B2.55 104.78 133,35 171.45 171.45 235 235 330.2 330.2
E | Fi 5 5 5 =] & ] 5 &
F 26 33 45 52 ris] o1 117.6 1M17T.5 170 170
G|Max | 3.5 1 11 | 145 8.5 8 23 11 16 16
Min 5.5 =5 = 1.5 =10.5 =15 LE] =12 =12 =12
H 17.5 20 18 | =05 25 28 35 39 40 40
o 12 12 20 30 45 50 50 50 50 50

Kllnlmr M32x1.56 | M40x1.5 MEExZ | ME0x2 MEB5x2 h1 00x2 M130x2.0 | M130=2.0 | M180=3.0 |IM180=3.0

L [3-M10x60| 3-M10x60| 6-M10x80 |6-M12x90|6-M16x100 |6-M16x110 | 6-M20x150] 6-M20x150 | 6-M22x170 | 6-M22x170
M 24 26 =82 | 38 4.3 51 61 i Filt Fi
N 495 54 &6 95 110 11 135 135 185 | 185
P 14 14 20 25 S0 30 43 43 GO G0

a Max 23 26.5 32 38.7 51 61.3 7O 82 108 108
Min | 203 23.8 | 2025 | 35 46.6 56 B4.7 76.7 1015 | 1015
R Max 11.25 18.75 2pFE | 2975 33.76 45.76 BE4.75 ¥8.25 7.6 7.6
Min | 675 [ 7.75 9.25 | 1475 | 1425 | 1575 [ 2025 | 1825 215 | 215
] 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 3.0 3.0
T 23 23 32 | ar 40 50 50 50 62 652
x - 12 16 16 16 20 20 20 20 20
b 4 - 30 e {51 45 &0 &0 8o 80 100 100
- e —_— e ——— - ey i 2 e st
T -z M& Ma - MEB M10 Mi0 M1z M1z Miz | miz
t - 5 5 5 5 5 5 5 5 5

HE W 0E . HE - 58 eaoressional - HigH precision  HicH speeo - seavice - aualry I



NZEH BR AR EE (8 2EER)

3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR)

Serration Pitch
4"=18":1.5x60°
21" 24":3.0x60°

.-—"'H:
i
o=

Al |
: == o 30°
(o]
ot Tt B o s
15¢
< OkofTL o > )
il 30* =
K 45° 6-M1
M . X
E]
J B ¥

B3i#{% SPECIFICATIONS

BUTT Model| TEIB- mn—%:nn— TRAW-| THAD-| TRIE-| TRAD-| TRID- Tﬂl—!m TFiB- | TFiB- | TF36- - B EEE TFIBA

Rt oim 504 | BAG | 10A6. 10A8 | 1248 1548 2141121415 24A11 24a15
— o, PO a3z | a5 | s2 | s2 | #5 | 75 | @1 |m7zs/m7sl117vs| 170 | 170 | 470 | 170
e 10 |12 | 18| 16 | 18 | 18 | 23 | =3 | 23 | 23 | za | 2a | 28 | 28
p b Sy - 54 | 56 | 74 | 74 | as | a8 (106|106 | 108 108 | 92 | 123 | 13 | 13
[ ] | | ! | |
I Forcetign | 1700 | 2200 | 5400 | 2400 | 4300 | 4300 | 6800 | 7240 | 7240 | 7240 | @177 | 9177 | @177 | evry
| | | | | ] | |

sl Ar A A A AL AL AR A AR A E AR AR A LA

 hogrmgtiom®y
l’hﬂ:‘lﬂf{nﬁl T m% S000 | 4900 | 43200 ; A0 | 500 | I500 | 2S00 é OO0 | 170D | 1700 | 1E00 i 1400
HMF &8 | 14.2 2658|2405 408 | 37.4 | 595 | 134 | 127 | 171 | 238 | 235 | =oa | 283
. Ros | Roe | Aca HG"I&EFIEHH Aci2| AC1s| RE15 RC18 |RC18 |RC15| RC1S| RE1S
Matohimgy CylEnder i ] | |

P S e et S = i (¢ Bt sl il e Pt e == L e R

[ SE=EET Maching Mard Jaw | HJ05 | Hios saos [ Ha1o | Mo e Hds | Hd s HITS [z | HI2T | He2T | HO21

BT DIMENSIONS

R
IR Makehing Bofl Jaw | 05 HESDE HOO8| HE0E | HC10 HS10 | HE1 2| HC15| Ho1s [HET5 [HG21 | HE2T | HE21| HC21
[

[ o W] YFam SA4 | TP3B-6AS | TFAB8AS | TFIB-BAG |TF3B 10AG TFIB-10AS|TFIB 12A6 TFIB12A8| TF3B-15AS TFaB-15A11
A 135 169 210 ] Z10 754 254 304 304 351 ZE1
71 81 108 | 103 120 113 128 | 122 60| 148
HE 118 1 3 k| 171.45 | 100 180 I35
T 7 " ———— —
5 1 2 i i)
F | walia | msess | esAsS | iGAA7E | ok 4% | iS07i8 | 106876 | 150718 | 188 #id | 16k ses
1 4 ]
S i il il | | B |
J 6.5 18 13 g 18 24 25 25 24 28
4 FLA R L] GEMT0 [ | BHAMIZ GEAMIG | GAMIG GRMIG | GAMID GRMZ0 | | GAMID
L 33 45 52 ] 52 75 75 ot a1 117.5 117.5
™ 4 ] & | B ] i B [ | 5] [ | ]
P max. 16 26 7.5 31.5 335 | 268 33 6 A0 Y
P min. [ id 2.5 | 156.5 14.5 H 7.5 1 | 3 17 | 11
R 10 3 14 14 8 18 21 21 24 24
20 19 @06 | @06 25| @5 - S EL)
¥ 5 i 57 37 a2 i o &2 &
[ Omax. | WE0XTE | WESXZD0 | MGOXZ0 | JABOXZ0 | WMBEXZ0 | WBEXZO0 | MIOONZ0 | WMADONZ0 | W30XZ0 | 13020
v SHNG EFA] GHMI0 | dXME EHMI1Z BB B2 BB GG A0
'_w 4:5" =] (=1 | rEH ﬂ:l- 1 a4 'H:Ig i _;!IJE- T35 35_-“
® 1z 16 R 16 16 16 20 i =0 20 =0
<l |
39 53 T = 16 T —— 335 165
53 T T T i — o i — it :
w"'”f“ Fig 1 Fig 1 Fig 2 i Fig 1 Fig 2 | Fig 1 Fig 2 | Flg 1 Fig 2 Fig 1
| g g TF38-2
R TFEB-_"H“ TFHE-H-H“ TFIB-21A15| TFIB-24A11 | TFIB-24A15] | o = TFIB-18A11 | 1411 TFIB-21A15 iTFm'i-IM‘I TFIB-24A15
A 450 a3 230 610 G610 | Pmax. | 33 El" 43 ‘:":}T 43
B 149 | 183 | 169 | 183 | 169 || Pmin. | 10 | 29 15 | 29 15
@ 76 330.2 330.2 330.2 330.2 9 TR 25 | 9% oK
| §
D 43 | 60 60 60 G0 5 3 | 40 40 | 40 40
E 22 1 a1 4 S W | S R | T G2 65 65 | B5 65
F G500, | 100000 |- ZBG.TR | 196860 | RIS Umax. | M130X2.0 | M1B0X3.0 | M180X3.0 | M180X3.0 | M180X3.0
C{HE) 300 | 360 380 380 | 380
TR T T Rag e ~mana | aans | 302 | Y| 3XMID | eXMiz2 | 6XM12 | &XM12 BAMTZ
H 235 | 3302 Sa0.2 302 3302 t t
W | 138 | 207 | 207 | 207 207
J 28 30 30 30 30 y | 4 1 w0 B | dU 1],
K BXMZ0 | GXMZZ | GAMZZ | GAMEZZ | GRMEZ | Al 150 | 200 200 | 200 200
T TTE T 7 s beiaes M1 MiZ_ | W2 Wiz | W2 M12
[ B B B 3 & . o U N - N VI N -
X 70 Z0 20 70 70 il Fig 1 Fig 2 Fig1 | Fig2 Fig 1
¥ B0 | 100 100 100 100 Ralarencs | '

m BE M= -28 - BE- BH PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



ol = TSR ch2esh B AR EE (L3S

3-JAW WEDGE TYPE THROUGH-HOLE

POWER CHUCK (WITH ADAPTOR) (BIG HOLE)

SERIES

T
P_ S R
m $
el Bt OO0 1@
! e
] =y
; 15
{ | a :'
i e
| \e-m
LE
J
Fig 1
WiRtg SPECIFICATIONS
R Dim &5l Model | TF3C-6A5 | TF3C-8A6 | TF3X-10A8 TF3X-12A8 | TF3X-12A11
B M Through-Hole (mm} 52 BE T8 100 100
EB{TH Plunger Stroke (mm) 12 17 19 23 23
MiTE | B ) Jaw Stroke (Dia) (mm) &5 7.4 B8 10.6 10,6
A AEEET] Max. Draw Bar Pull Force (kgl) F200 3400 4300 | BE00 G50
SO -~ |:8700 e THDNE =" 14300 """ 14300 e
BAPER) ERET) Max Gripping Foras (kafifikgliom®) | 7~ — 4" —— 48| — zr5l __— 198| — 1938
BAEE Max. Speed (rp.m) £000 4600 4200 3300 3300
HiE Waight (kg) 14.2 24.5 37.4 &1 61
m Iluinmru Cylinder RCS-8 I RCS-10 RCS-10X RC1S RC15
WHEN Matching Soft Jaw HCO8 HGCO8 HC10 HG1z HG1z
WSET, Matching Hard Jaw HI06 Hlo8 HJ10 | HJ12 HM2Z
MR Y5% DIMENSIONS
g e TF3C-6A5 TF3C-8A6 TFax-10A8 TF3X-12A8 TF3X-12A11
A 175 215 254 318 318
B 75 108.5 113 137 126
D 20 25 230 30 30
E a0 22,5 18 33 22
F B2 583 10638 138.718 138.719 196.8
C(HB) 140 170 220 | 300 300
H 104.78 133.4 171.45 171.45 235
o 16 16 20 20 20
K BXM10 B-M12 BXM16 BXMZ0 BXMZ20
L 52 G656 T8 | 110 110
M 5 i 5 L] G
N max. 32 46 51 [=55] 68
N min. 28,25 42 46.6 63 63
O max. 24 255 34.5 53.5 53.5
O min. 7.5 10.5 12 19 18
P max. 25 12.5 26.5 ar 26
P min. 12.5 -4.5 T.5 14 3
R 12 14 18 21 21
s 19 25 25 28 28
T a2 3r 4.2 i 52
U max. MEOX2.0 M74XP2.0 MATXZ.0 M115X2.0 M115X%2.0
v — - — | 6XM16 —
W GE a2 86 127 127
X 16 18 16 | 20 20
¥ 38 45 60 60 &0
_A1 65 80 102 140 140
M1 Ma g 10 M0 M0
t 5 5 5 5 5
e il Fig. 1 Fig. 1 Fig. 1 Fig. 2 Fig. 1
a5 [ i ig ig i ig

BE - WE - 2% - BF - W PROFESSIONAL «

-3CA | TF-3XA

Al

ricH precision - HigH seeen - seavice - auauy T




A ZEHBERER (F2EHIR)

F2B

2-JAW WEDGE TYPE THROUGH-HOLE SERIES
POWER CHUCK (WITHOUT ADAPTOR) S
Serration
PSs T kP15 Q
R
‘l_,a"r’f | FE |
| =
AER | E ¥ &
| $
P = LS e
) o) & B
. :ﬁl, i \/
‘H’ ’ 1 -1 E-MH
F T
K B |
HiR18 SPECIFICATIONS
’;ﬁ TF2B
ﬁﬁﬂ 4 5 6 8 10 12 15
LEEEIEEF‘JNI} 1".“' I:I'I'-ﬂ'l'l'll 5.4 5.4 55 T4 6.8 10.6 10.6
ﬁfif“m“ {mm) 10 10 12 18 18 7 23
ﬂ:;:\-mﬂw ik 4 Man: 110 135 168 210 210 304 281
Recomma external ug
ﬂ'ﬂm‘“" for standard sofi top Jaw | Min, 10 10 10 12 18 a8 40
ﬂﬁém m| (r.p-m} BOGO | 7000 | 000 4800 4200 3300 2600
ﬂfﬁﬁm s (kg 948 1158 1450 2250 2850 3667 4783
i
Clamping-force at Max, (gf) 19385 2209 3800 5600 7400 9600 12236
Dvaw Bar pull {Total jaw force)
oy S kglm®| 0008 0.0047 0.0566 0.165 0.306 0.7 730
E"rﬂl i ke e o S {kg) 38 6.5 115 213 15 52 115
R, s
Matching Cylinder 4 5 <1 ] 10 12 15
//-.’Eﬂqrg RC /.-1_-3 /m /m /1?.5 /5.5 /E.E /5.3
=l operats chuck (kglicm’) -
MR DIMENSIONS
Rt Aaﬂfﬂrn:uLu a[R|s|T| Y |x|v|am|¢
Dim Ma, | Min, | Max, | Min. |Max | Min.
4 |110 |50 |85 | 4| 708 |26 |mi0 | 16| 14| 23 203 11.25:5.?5 15|65 20 [ 10 [175| 2¢ |msaas| - |- |- |- ] -
5 |135 |60 |110 4|B255 | 33 |[6-M10| 16 | 14 (265 (238|195) 6 (16| 6 |23 | 10 | 20 | 26 M40X15 12 (30 |62 (M6 | &
6 [169 | 81 |140 | 5|10478 (45 [GM12| 20 | 20| 32 P954| 24 (75|11 | -1 (32 |12 [ 19 | 29 |MSSX2.0| 16 |36 | 65 |MB | 5
TF2B | B |20 | 91 (170 | 5(13335| 52 |[6M12| 22 | 25 | 387 [35 | 30 {10.5/14.5/-1.5| 37 | 14 (235 39 | MaOXZ.0 | 16 -ﬁiﬂﬂ ME | 5
10 |254 {100 |220 | 5(171.45| 75 |6-M16| 23 | 30 | 51 466 [345| 12 |85 10542 | 16 | 25 | 43 |M85x2.0| 16 | 60 | 102|M10| 5
12 | 304 [ 110 | 220 | 617145 91 (6-M1G| 30 | 30 (613 | 56 (465 12| & [A5|82 (29 | 28 [ 51 IH!WHIﬂEE‘U ﬁﬂiim Mi0| 5
15 |381 (133|300 | 6| 235 [117.5/6M10| 16 | 43 | 82 |76.7 |485 135 23 | 0 43 | 66 |M130X20) 20 |80 | 150 M12| 5

BEN 55 = oo BR - 28 PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY




Wapsralsy P T\chZe i BE SR EE (a2EEn)

F-4BA

SERIES

4-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR)

i\ K
t
MR Y3 DIMENSIONS
ﬁu TF4B- TF4B- TF4B- TF4B- TF4B- TF4B- TF4B- TF4B-
ﬁ:: 6AS5 8A5 8A6 10A6 10A8 12A8 15A8 15A11
A 169 210 210 254 254 304 381 381
B 91 109 103 120 113 122 160 163
G 116 133.35 150 171.45 180 190 235 260
D 20 25 25 30 30 30 43 43
E 15 23 17 25 18 18 33 22
F 82.563 82.563 106.375 106.375 139.719 139.719 196869 |  196.860
C(HS6) 140 170 170 220 220 220 300 | 300
H 104.78 104.78 13335 133.35 171.45 171.45 17145 235
J 16 13 18 18 24 25 24 28
K AXM10 4XM12 4XM12 4XM16 4XM16 4XM16 4XM20 | 4XM20
L 45 52 5¢ [ 8 91 75 | 175
M 5 5 | 5 5 5 B B 6
N max. 32 38.7 38.7 51 51 61.3 82 82
N min. 29.25 35 35 46,6 46.6 56 76.7 76.7
_ Omax. 24 30 30 M5 3.5 465 | 4675 | 4675
0 min. 75 10.5 10.5 12 12 12 13,75 13.75
P max. 26 375 315 335 26.5 26 I
P min. 14 225 18.5 14,5 7.5 3 17 | B
R 12 14 14 16 16 21 24 24
5 19 205 20.5 25 25 28 43 43
T 32 7 37 42 42 52 62 62
U max. M55X20 | MGOX20 | MEOX2.0 | M85X20 | MB5X20 | M100X2.0 | M130X20 | M130X2.0
V. | 4XMe | 4XME | 4XMB | BXM12 | 4XMB | 4XMB | 4XM10 | 4XM10.
w 60 66 6 94 “ 08 | 130 | 1%
X 16 16 16 16 16 20 20 20
Y 36 45 45 60 80 60 B0 | B0
Al 65 £0 80 02 | 102 00 | 150 150
M1 M8 M8 M8 M10 M10 M10 M12 M12
t 5 5 g 5 5 5 5 5
Hfjg;a Fig. 1 Fig. 2 Fig, 1 Fig. 2 Fig. 1 Fig. 1 Fig. 2 Fig. 1

WERE -2 B BE PROFESSIONAL - HIGH PRECISION * HIGH SPEED - SERVICE - QUALITY



sesians” = T\E

N SHBERIEEE (REEER)

3-JAW WEDGE TYPE NON THROUGH-HOLE
POWER CHUCK (WITHOUT ADAPTOR)

Serration Pitch
6”-18": 1.
217,24

5x60°
3.0x60°

SERIES

]
BWi8i% SPECIFICATIONS BR 7% DIMENSIONS:
RY
- V-206|V-208(V-210 V-212|V-215V-218/V-221| V224 | | g~ D'™ | V-208] V-208| V-210|V-212 V-215)V-218| V-221| V224
Madel Model
e (BE) A 165 | 210 | 254 | 34 | 318 | 450 | 530 | 610
85 | 84 | 48 @ 10& | 16 16 | 16 16
Jaw Stroks (Dia) (mm) B 74 | B5 | B9 | 106 | 114 | 114 | 125 | 125 |
Hi..!ﬂ“li!_ﬁ?ﬂﬁﬂ"ﬂ, ! _Im | = _lEE 0| % 35 35" 35_ _EII.IH,H.___l;ﬂ_.__I;E___ @ﬁﬂ_?_g_ﬁ;ﬂ }::L_E’:é
R EE ﬁ[m} 165 | 210 | 254 | 304 | 381 | 450 | 530 | 610 || ¢ 10478 | 13035 | 17148 [ 17145 | 235 | 235 | 3302 [ 3302
|Gripping .!;.F-J\d. i ! ‘ ! p 21 o | a | 3 B B B B
® Mingmy | 2| 2|16 18| 68 | 40 ) 80| 80| T oM | 16 | 616 | 6M20 | G20 | G4 | 6ps
| N W | 20 | 18| 2 | 2 |2|3|3
1835 | 2540 | 257 | 4181 | A3R82 | 8362 8362 | B3A2
[MaxBul Foree (g9 | F 0| % | %0 | 30 | 4 | 435 | 80 | 60
Vi Smood cpm) | 900 4000|3500 2000 2800|2700 1000 175 || [wex. | 6 [ das | str [ o1 [ 775 | o8 [ w65 | 126
- Min, | 3355 | 419 | 467 | 5575 | &5 | 100 | 785 | 117
BARED/ BEEN 11013, 115807.[2539
v e g 55| 5285719 0,20 120 20| | Wox_| 8 | 25 [ 315 | 0 o5 | w | 9 | @
B8 Min. | 75 | 9 [ 105 | 1 |32 | M [ 4 | XM
"-Haiﬂtkn} il e il Ml e Bl J[Mex | v0as | 2 | w8 [ [ w4 | @ | o7 | o
s o045 (0137 | 03 -H.?‘E’E 18 2.35-4.513 B.43 Min. 84.6 M 133 113 69 57 2 f2
|“"'“'""“ﬂ"""‘""“{"9@'-“*'1EI l I 5 12 | | 16 | 18 | 255 |55 25 |
HHIMI.\‘H‘:EIMHIEEMHIEI wmmmm&m R 3 35 40 | 50 50 &l f5 65
Tt 9 |ex2n] ana.s [Maoka s M20k2 5| M3OK3.5 Ma0x.5|M30Xa 5 a5
HJ0E | HJ08 | HI1D EI'EHE-1 HF5-1 I'l.|15~1§I'1E1*! HJH G 4 5 5 i 5 3 2 15 75
EE LM HCOG | HCOB | HCI0 HC12-1HC 151 [HC15-1 HO21-1 HC244 0 H 3 4 50 60 | 60 il &0
Matching Soft Jaw | % | % | % | 3% | 55 | 5 | 55 | 55

m BE-ME -9 - BE - 5HE PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



Wopnsfas = MBS SH AR EE (s EEs) VA

3-JAW WEDGE TYPE NON THROUGH-HOLE SERIES
POWER CHUCK (WITH ADAPTOR)

Serration Pitch
67-18": 1.5x60°
217, 24" : 3.0x60° a

oy Py
AT
L I
ML T MIT
Ea
Fig 2
WiR+E SPECIFICATIONS
Bz rn:%:: HEmITE | ".‘E'ﬁ m}!j? Efm “:t:m “::ﬂ ':l: o | TS EEEL éiﬂ‘zﬂm mﬂt
R Dim | (Dia) mm) | (mm) (kgf) (ki) [kgtent’) {r.p-mj} {kg) figt.m) I'.‘.'yihdur M -.Il'h' Hard Jaw
V-206A5 8.5 20 1835 5253255 5270 12.5 0.045 MH105 HCO6 HJO6G
V-208A6 88 21 | 2549 THAR24 5§ 47TES 24 .4 0137 MH125 | HCD8 Hlos
V-210A6 8.8 25 2957 10013/28.6 4010 40.85 0.3 MH1 25 HC10 HJ10
V-210AB | 88 | 25 | 2957 | 10013/286 | 4010 | 3715 | 03 | MHI25 | HC10 | HJI0
V-212A8 10.5 a0 4181 15807275 3380 B1.75 0. 725 MH150 HC 2-1 Hd12-1
V-215A8 16 as B3R 25391/30.8 O 105 1.8 MH150 @ HG15-1 HJ158-1
V-216A811 16 a5 HIB2 P5301/32.6 3000 103 1.8 MH200 | HCi151 HJi5-1
V-21BAE 16 35 8362 25301/32.6 2700 134 2.4 MS-200 | HC15-1 HJ15-1
V-21B8811 16 35 8362 25391/32.6 2700 123 2.11 MS-200 | HC15-1 HJ15-1
V221811 16 25 8362 25391/32.6 1900 193 5.1 MS-200 @ HCZ21-1 HJ21-1
V-221A15 16 X5 8362 25391/32.6 TS0 187 4.9 rAS-200 HE'.E‘I HJ21-1
v-zzaA11| 18 a5 8362 ' 25301/328 | 1750 239 | 75 | mMs=200 | HC21-1 | HJZ11
V-224A815 16 35 B3sZ ZRIAGIE2 6 1750 233 i | MS-200 @ HC21-1 H.JZ1-1

IRT__rﬁ DIMENSIONS

o, Vﬂu V@ \F-Eﬂﬂﬂ vﬂu \Fﬂu \fﬂz Vﬂﬂ | V-216 !v-zia V-21B |V-221 [V-221 |V-224 |V-224
B | A11 | AB | A11 | A11 | A5 | A11 | A1S
A 185 | 210 | 210 | 254 | 254 | 304 | 381 381 & 450 | 450 | 530 | 530 | 610 | 610
B B4 103 a7 1059 102 118 141 | 130 | 141 130 146 146 T4 146
c 104. 78 [104.78 | 132.35 [133.35 [171.45 |[171.45|171.45| 235 |171.45| 2356 255 (330.2| 235 |330.2
F 20 25 25 30 30 30 43 | 43 | 43 43 60 &0 60 &0
K ___ | 140 | 170 | 170 | 220 | 220 | 220 | 300 | 300 | 300 | 300 | 380 | 380 | 380 | 380
L &M1u GB-MA2 | B-B12 | B-M1E E—M!E B-M1E B MAS | E P20 | B-M1E B-MZ0 | 6-M20 | 6-M24 | 6-M24 |6-M24
M e = - B = 5 8 _ &6 | &8 | 6 B it _8_ &6 | 8
[ | 14 13 18 18 25 25 24 | az | =24 a2 =8 Sl 28 3
P 21 21 26 34 34 34 - - - - - - E -
T | s | =3 | 17 | 25 | 18 | 18 | 33 | == | 33 | 22 | 27 | 27 | 27 | 27
W B2 563 | 82.5863 | 1046, 3?5 105.3?5 138,718 |[138.718 139 ?‘FE 196,869 139 ?19”5!5 ElE-'EI 1EIE|-.EH39 <85.75 196 869 |285.75
] 118 133.35| 180 [171.45| 190 190 235 2680 | 235 2680 |330_ 2 |330.2|330.2|330.2
Miax. 18 225 ==.5 7.5 | 37¥.5 47 50,25 5025 50.25 |50.25| 93.5 | 93.5 | 935 | 83.5
E Min. 7.5 = =] 10.5 | 10.5 11 23.26 | 23.26 2325 |23.25 | 24,6 | 24 .5 | 24.5 | 24.5
& “} 5 5 5 5 5 = | 2 | 28 = | 3 3 3
' Max. | 8ao.8 109 116 133 140 145 71 B2 59 70 FO 7O 70 7O
Pin. 59.6 B = 108 115 115 a6 47 i a5 a5 as 35 as
1 a6 36 a8 as a6 as 55 56 | 55 55 55 55 55 55
ol M1Bx2.0 |M20x2.5 |[M20x2.5 | M20x2 5 [M20x2.5 [M20x2.5 M30x3.5 M30x3.5 M30x3.5 M30x3.5/M30x3.5 |M30x3.5|M30:<3.5 M30x3 5
L 34 38 28 45 45 50 &0 | &80 | &l B0 &l a0 50 &0
- Max. | 37.8 | 48.3 | aB.3 | 51.1 51.1 a1 F7.6 | ¥7.6 | 108 108 86 BE 126 | 125
RAin. 33.5 41.59 41.9 46,7 48.F7 |55.75 | 69.5 58 .5 100 100 B Ta 117 117
R 31 35 a5 = 4.0 S0 S0 &0 50 B0 &5 55 85 B85
s 12 144 144 1& 16 18 25.5 255 266 | 26.5 25 25 25 25
W | 3-M6 |3-M10| 3-ME6 |6-M12| 6-M8 | 8-M8 6-M16 3-M10| §-M20 | 3-M10 [ 6-M20 | 3-M12 | 6-M20 [3-M12
E#Ii"- Fig-1 | Fig-2 | Fig-1 | Fig-2 | Fig-1 | Fig-1 |Fig-2 | Fig-1 Fig. 2 |Fig. 1| Fig. 1 Fig. 1| Fig. 2 Flg 1

BE - WE - 2% FE - BE PROFESSIONAL - HiIGH Precision - HiGH sPeep - seavice - quauTy KN



NP ESH B3R BR (R2EER)

2-JAW WEDGE TYPE NON THROUGH-HOLE
POWER CHUCK (WITHOUT ADAPTOR)

VT

SERIE

S

M
MR8 SPECIFICATIONS BRY#F% DIMENSIONS
e [ﬂ_ Ln Fx :
Dﬁﬁ Model "\I'T-Eﬂﬂi 208 VT-210VT-212NVT-215| | : VT-206 VT-208 VT-210 | VT-212 | VT-215
Dim
msie ' A 165 210 254 | a3p4 | 381
JawSiroke D) (o) | 89 | 98 | 88 | 105 | 10 8 | 7a | 85 | 8 | 106 | 114
FE.,,,.." ﬂmﬁ, i 20 | 21 | 25 | 30 | 35 C  |10478 133.35 17145 | 17145 | 235
s g | Max. 18 225 | 375 47 | 50.25
s EHE Max (mm) | 163 | 210 | 254 | 304 | 381 Min. | 7.5 9 10.5 11| 23.25
Gripping F 20 25 30 30 43
R i
g minmmy | ® | 2 | 2 | 2 | 68 G 4 5 5 5 2
BN ! Max. | 1085 | 132 163 168 104
Max. Pull Force  KN(kgf) [1211226)185(1683) 19501088127 52804)565608)| | H [— o 5CE v a8 s =n
Mok g Forca KN afy [ 24(6469) 501s099) T b | 3 | 36 | 36 | 36 | 85
= J  |M16x2.0 M20x2.5 M20x2.5|M20x2.5 M30x3.5
millwl! (rpm) 5100 | 4650 | 3810 | 3200 | 2800 K(HE) 140 170 . 200 290 300
- : L B-M10 | 6-M12 | B-M16 | 6-M16 | 6-M20
Weight (kg) 12 | 22 | 33 | 573 | 96 M 5 5 5 5 6
RIEEE N 14 20 18 22 29
m tof | i Mmp} .04 .13 .29 0.7 1.7 U a1 a3 45 50 &0
E"m" mgﬂwm MH100 MH125 | MH125 | MH150 |MH200 P 21 25 34 34 .
e a Max. a7.8 46,3 51.1 61 Tr.5
mﬁm...ﬂ M” s HCOG | HCOB | HE10 [HC12-1 [HE15-1 Min. | 335 | 419 | 467 | 55.75 | 695
R 31 | 35 40 50 50
WS |
llll'td'Lll'lg Hard Jaw H.EE HJOE | HNO | HJ12-1 |HJ154 E 12 14 16 18 05 5

RN s v= - 3 955 - S8 PEOFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY




y' YLI\GHERZREER DY

VERTICAL POWER CHUCK

e ABIIT - #55, - SEHIDOT -
@ Suitable for vertical milling and drilling operations.

N

DOV

SERIES

S et
£ o
. A
,-"I o ]
- F\—L’ 0 = ®
s
|
B
A
WE+E SPECIFICATIONS
R . AR Eewem e
Dim | EZEE | EffectivePistonArea | "o -~ | Max. Draw Bar Pull EE HE fE A ERED FFAMLER
Piston Dia Weight | Max.Operating | Matching
Al k| Stroke Eiia il HI{
E (mm)  |pysh Side| Pull Side | (mm) |Push Side| Pull Sige | 'k3) | Pressure (kgficm?)|  Chuck
(em?) fem2) (kaf) kgf)
6" uXE DOV | =115 104 8.5 20 1900 1400 iz 20 V206
8" LIE Dﬂ"n' al1s55 187 148.6 17 AE00 SEO0 39 a0 Ei?g
B~ DIMENSIONS
B | gy | 8t IR B | gnygrE | et T
jaih moee DOV DoV = pRode DoV DoV
A 220 285 K 5.5 55
B 205 250 L 15 15
c 104.8 =H133.4 “ 50 &0
D @168 @210 N M1axP2.0 Mi1BxP2.0
E @140 @170 0O nM125E24 M1 224
F o555 o drd n) P 4-£313 A=T13
G 50 80.5 Q BT 1/4" PT1/4"
I 16 24

BHE - BT - 2% - FE - 2¥ PROFESSIONAL ¢ HIGH PRECISION - HIGH SPEED -

service - auaLTy HENIEN




Uotsfame =T chE RS K 5ETE (B2EER)

VW-A

SERIES

3-JAW WEDGE TYPE NON THROUGH-HOLE

WATERPROOF POWER CHUCK (WITH ADAPTOR)
o kA RERAR T TN TICNC RS -

® Waterproof power chuck is suitable for T B,
vertical and horizontal CNC lathe. 21",24":3,0080"

PS:1.D":30" 18"
2.0%:.80" ,21"-24"

MR8 SPECIFICATIONS

ok [TTHE) ETR | SRR | RS | pewe | mm | TR e | maceon e
masel lunger | Max. Pull | ZHERD  ya gnaed | weight [MOMentofl wining | Matching | Matching
e Stroke Stroke | Force |Max. Gripping Force | (rp.m) tkg) Inertia | o ool [ e
im {Dig) fmm) |  (mm) {Kaf) (kgfy (kgficm?) o (kgt.m?)
VW-21BA8 16 35 8362 25391/32. 6 2700 | 134 | 241 | MS-200 | HC-151 | HJ-15-1
YW-218A11 16 35 8362 25391/32.8 | 2700 123 2.11 MS-200 HC-15-1 | HJ-15-1
VW-221A11 16 a5 8362 25391/32.6 1900 | 193 | 5.1 MS-200 | HC-21-1 | HJ-21-1
VW-221A15 16 35 8362 25391/32.6 1800 | 187 | 49 | MS-200 | HC-21-1 | HJ-21-1
VW-224A11 16 35 362 25391/32.6 1750 | 239 | 75 | MS-200 | HC-21-1 | HJ-21-1
VW-224A15 16 35 8362 25301/328 | 1750 | 233 | 7.1 MS-200 | HC-21-1 | HJ-21-1
B3 DIMENSIONS
(TR
B model VW-218A8 VW-218A11 VW-221A11 VW-221A15 VW-224A11 VW-224A15
Dim |
A 450 450 530 530 810 610
B 141 130 1486 148 r 146 146
c 171.45 235 235 3302 - 235 3302
F 43 43 60 B0 | &0 60
K _300 300 __ 3BO | 380 | 380 380
L 6-M16 B-M20 6-M20 ; 6-M24 [ B-M20 6-M24
M 6 6 6 B | & 6
N 24 s 24 34 | 28 34
7 33 22 27 27 '. 27 27
v 138.719 196 869 196.860 98575 | 196.869 285,75
] 171.45 235 235 3302 235 330.2
E | Max. &50.25 50.25 a35 | 93.5 83.5 83.5
" Min. 23.25 23.25 245 745 24 5 24.5
G 3 3 3 3 | 3 .-
n | Max. 71 78 56 56 | 56 56
._Min.. 36 43 21 21 | | 21
[ 56 55 55 55 55 55
—J M30X35 M30X3.5 M30X35 |  M30X35 | M30X35 M30X3.5
Q _Max. 108 108 86 86 125 125
_|_Min. 100 100 78 78 17 17
R 62 62 62 62 | 62 62
S 25.5 255 23 25 i 25 25
W 6-M18 = 6-M20 : [ EM20 =
X 16 18 6 | 16 ! 18 g
Y s 22 22 22
P 22 22 27 27 22 22
o a7 a7 a7 37 [ a7 37
z B0 60 B0 B0 ' B0 B0
Mantalinll Fig. 2 Fig. 1 Fig. 2 | Fig. 1 Fig. 2 Fig. 1

BE BT - 463 - 55 - SH PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVIGE - QUALITY




Uit 235 o 2030 8% SE R £ T B RC

SUPER HIGH SPEED THROUGH-HOLE SERIES
ROTARY HYDRAULIC CYLINDER

N
ST B 7]
2%2-51 Fi '
s

HiHY

Jd1 J1

@ FUHTEERS - (With check valve)

MRt SPECIFICATIONS

8k | EmmiE _ _ =152
S Symibol | Effective Pixkcn Ara BT EMERE LRt IREE i - Rl I - -
i fam - AATHE Wiaac ol leabusge fram
! s alon Tisyr. Marnani walght  drain F":".t and max
ﬂl_lﬂ H"\. =i 2| Itl"ﬂtl': M B0, 5 pep ] prl:::urf of inertla Ikn] nteemial il |ma
Model ™ |Eded Feme | W70 Ml Laghcarl |tk i i)
4 47 a41.5 O 510 8 ) .02 5.8 3
5 | 67 45| 15 8000 044 | 88 3
FIC E 10101 ot 15 TG0 D.OT7H 12 =
8 |181 150 | 2P B200 ac 0.21 | 168 3.9
10 | 198 183 | 25 4700 038 o6 4.0
10X |198 183 | =& 4700 n.3a =B a3
12 | 252 234 | 30 3900 .61 az 4.5
B~~~ DIMENSIONS Jlese Lansil s i i 55 v
T HRER Symbel J v W
-._.____- i _ 2
AR s C D|E|F |G H ls K I MIN P S|T U e e e g Z A
| 115 100 | BD | 65 | 44 |waex:s 28 25 | 35 |44 509 o0 (105|156 9 0 |34 @5 | 5 76
5 135 116 | 100 | 65 | 4 |we 5 38 230 (448|558 73| 106|115 755 10 5 |40 25| 5 aa
E. 185 130 | 100 (714] a5 MES K2 45 151 523 34 B5& 116 | 115 | 14 10 -5 A 25 5 QR
HC B 190 170 (1230 | @5 | 70 | Mooz 52 26 [seg| 73 o6 |1a37|120|196 17 5 | 47 25| 5 110
'”] 215 180 | 160 | 120 o5 [ e ™™ 1] od.&| 98 121 165 | 1680 | 230 20 -5 a0 25 5 155
10X 215 190 |160|120 | o5 | Mem2 7B 36 |e4@| 08 121 186|160 |230 S0 | 5 | BO 25| 5 155
12 a0 215 | 1BOD | 140 | 11 | MHDE g1 =] og.s | 108 138 182 | 185 | £253 25 -5 55 25 5 185
15 310 275 | 230|166 | 140 | M130%2 11756 36 118|148 178 225|215 (257 18 | 5 | 58 33| 5 206
T ASER Symbal
A1/B1 ¢1| Bl Fl gy g1kt L1(m1 N1|P1 @V (R1 s1(T1 w1 | X1
R4S Series - wE FE T
4 0.5 | 1086 26 | MEXI0 wexeo 1145 60 | 47 15 | M4 53 | 4 maio| 5 PTaR| 6 Mag E 32
5 11 1205 25 MEXE MINZD[IEE.S B& 47 15 a8 =74} . § KMEX10 5 PT 3% =] badxs & g2
& 116266 20 | MEXs MOX20|135 76 | 47 16 | B0 76 | 4 MExio| &  PTIR| B M3 E | BO
RC B 12 | 136 30 | MEX: MiEn[14s B8 |4 s | 55 o8s | o4 Mz s PTIZ| & MaXi: | 5B
1'] 175 I1B3.5 35 MEXE MIQE2DASE.5 101 47 15 a0 10 5 ) [ e Ki FT 172 G [T I e 21
10X 1751535 35 | Mexe Minoofess 1ot | 47 15 | 8o 10| 4 wmenz| 7 OPTIZ| 8 padxes | &l
12 b | 1688 a5 EEX14 MIZ2X24) 183 110 47 15 g5 120 d MIEX12 T FT172 a8 KEQ K2 L 5]
15 21 [525 46 |Mexics Migxod| 197 120 | 55 20 (123 60| 5 mexiz| 7 OPTIZ| B Mizgea | 134
-l

CRE L IEF - &W PHOFESSIONAL - HGH PHECKSION @ HIGH SPEED - SERVIGE - QUALITY

kb



8 - F - BUHEREL
SHORT TYPE CYLINDER

'ECS

- SERIES

1848 SPECIFICATIONS
fﬁ%a. mrmﬁimﬂﬂm | EEER w lg%a MR | o | ER (EAERE)
i Moment ; Max od leakage from
QERD  BREDRR | 5ot N o omel o] o |t | | e "8 | T
*Ultra thin. 2/3 of ori- 6 100 89 15 8000 0071 | @ 3
nginaj Iength_ RCS| 8 148 138 22 6500 40 0.129 13 3.8
10 183 169 25 5500 0.251 | 187 4.1
R<T#% DIMENSIONS
QREDIE  TEEN N _Aw ; o e
SEDREDETEE - “'“‘{:DEFGH‘EEMMFETU Z|A|B
*Built-in check valve ﬁ A ma | min | méx min
» safty Auto lock and 6 |165(130 100 | 80 | 65 |M55X2.0| 46 | 40 |52.9| 64 | 85 |116 {120 1395 14 | -1 | 40 | 25 88 | 147
pressure relief valves. |rcs | 8 [18s]170]130] 85 | 70 |msoxz0| 52 | 40 |se.6] 73 | 96 [13s]130 ||5u.5 21 | -1 |42 | 20 110 | 165
10 | 246190 (160 | 120 | 95 MBSX2.0| 75 | 46 |B4.6]| 98 [121 1683 (160 |1£E.5 24 | -1 |60 |25 | &5 |165 195
€ REFTIRES BB
iH ymbol a4 1g1 |c1| E1 | F1 |@1|ut |kt |u1|mi|nte1| @1 {Rilst [Ta] wa [xa| v
*Assembling from rear ﬁ% i e o
side is available. 6 [10.5 105 30 | MEXE Moeolions 76 |47 |15 (50 | 78 (1.5 [Msxe | 5 [PTa| 8 [Ms2x1.5] 50| eMeTs
RCS| 8 nﬁpm.agu' MEXE MOX20[110.5 86 | 47 | 15 | 55 | 85 MEXT | 5 |PT'| 6 |M58X1.5| 56 | &-MBEX80
10 [17.5 25,5 35 [MeX10MiGx20/126.5/101 | 47 | 15 |80 [108] 3 [Mex7 |7 [PT'| & [Ma4xz.0] 81 [a-mioxeo|

IEEE s i  tus - 5 25 PROFESSIOMAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



1E 0§ H B

NON THROUGH-HOLE ROTARY HYDRAULIC

CYLINDR

e HAESHNBESEZHE B/ \ERE

OEEEMTHEE -
o ERRMRBAT  ETERECERE -
@ Compace size and light weight, made of alloy aluminan to lighten

MH

SERIES

loading of spindle.
® Suitable for high speed turning.
K M
a1 L 5
11 i M
2PT38" | | A:Bore
B:Stroke _
i
' 2
II: -
(] —
o Iy "
.y ﬁ 74 : a"' il B ©
}_. i F ]
flfr. &
[ o E
F|T 1]
Q
M#7+E SPECIFICATIONS
S SEEH BAGSENN | MEEAEED | MRGE | BEEeE | ER | W
mizg, | SETE Piston Area Max.Draw | Max. Operating | Total |Max. Speed |Weight | Moment of
MODEL | Piston Stroke sy 8 Bar Pull Pressure | Leakage | (rpm) | (k) Inertia
(mm) Push Side | Pull Side | KN(kgl MPalkgficm?) |  (Umin) N flgk.my
MH75 15 44 a9 15.5(1560) 4.0(40.8) 0.8 6,000 3.6 |0.108(0.011)
MH105 20 86 81 32(3240) 4.0(40.8) 0.8 &,000 6.3 | 0.29(0.04)
MH125 25 122 115 AB({4800) 4.0(40.8) 0.8 6,000 =] 0.88(0.09)
MH150 30 176 160 B63({6424) 4.0(40.8) 0.8 5,500 12,5 | 1.86(0.19)
MH200 as 314 290 113(11523) 4.0{40.8) 0.8 5,500 21 3.82(0.39)
MR DIMENSIONS
B
"DB_ELAECBEFGHJI{LMMMI:LFE
MHT75 76 | 15 104 | 90 (1 30 | 21 M20X2.5 35 147 | 868 | 102 | 48 | 31 | &MeX125 | 108
MHI05| 105 | 20 | 135 100 | 80 a0 | 21 M20X2 5 35 |170 | 8o | 125 | 45 | 28 B-mnm.a-—‘ 131
MH125| 125 =25 (180 | 130 [ 110 | 35 | 25 | M2ax30 | 44 | 178 | 97 | 133 | 51 | 26 |eMi12X1.75 139
MH150| 150 | 30 |180 130 | 110 | 45 | 31 M30X3 5 4% | 187 ‘FD-EE‘HE 66 | 26 [12-M12X1.75 148
MH200 | 200 35 | 245 145 | 120 | 55 | a7 M3EXA.0 60 | 203 | 122 | 158 | 89 | 34 | 12-M16X30 | 164

W mE - 0F . @5 S8 PROFESSIONAL - HIGH PRECISION - HicH speen - service - auauy TN




sty o I 38 85 5 BE L

MS

'SERIES

NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDR

o RIIFICH - SERDFENERIIERCERREESHERNIRETE
FrBDEE SR LIFREZER -

@ Whenever the hydraulic pressure is depressing (for example: main power
shut down,damage of the hydraulic pepe..ect. The check valve will
remain the pressure for preventing any damage by accident.

1 IN

L g2 dq
EH [ J__.-f"'
B 4El\
Lo w-MEx10 ‘ L
40 | 40 R \GL
Wi5%% SPECIFICATIONS
_ EEER BCHARNED | BSEEREED | mmg EElE | =E @ SmiTE
i Pfﬁm Effective Piston Area | MaxDraw | Max.Operating | ‘Toral | Max, Speed | Weight | Moment of
MODEL R i Bar Pull Pressure {rp.m.) (kg) Inertia
{mmy} ""‘g‘.rﬂl‘“ il Side <ii@ Pull side> MPa (Vmin) gl
o I KN(kg!) (kgficm?)
MS105 20 86 79 29(2957) 4.0(40.8) 0.8 6,000 7.1 0.0125
MS125 25 122 113 42{4283) 4.0(40.8) 0.8 8,000 10 0.0225
MS150 ao 176 180 BO(E118) 4.0(40.8) 0.8 5,500 13.5 0.0475
MS200 as 314 200 10B{11013) 4.0(40.8) 0.8 5,500 22 0.0975
MR i% DIMENSIONS
B2 la(B|C|D|E|F |G| H |J|K|L|M|N | uldo Q R
HE"[DE 105 | 20 |136 (100 | B0 | 30 | 21 M20X25 35 (997|108 | 88 |162 | 45 | 25 G- M10X20 158
MS125 | 125 | 25 (160 (130 | 110| 35 | 25 | M24X30 | 44 |205 (108 | 97 |160 | 51 | 26 B- M12X24 166
MS150 | 150 | 30 | 190 (130 | 110| 45 | 31 | M30X35 | 45 (214 (108 |106 (169 | 58 | 26 12- M12X24 175
MS200 | 200 | 35 |245 (145 | 120| 85 | 37 | M36X40 | 60 (228|106 (122 | 183 | 60 | 34 12- M18X30 189

W AR AR 4.0MPa(40.8 kgiem?)
W EE  GBET] 3.0MPa(30.6 kg/emt) ENENE0 C

M Craw bar pull lorce:Prassure 4 0MPal40.8 kg/om =)
B Total leakage Pressure 3.0MPa{30.6 kg/cm®land oil temperture 50 'C

BEER 5 5= 5 R 2 PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



2 50 9 e R T MS-C

NON THROUGH-HOLE ROTARY HYDRAULIC SERIES
CYLINDER

o FINTE LR -

o RAEREES -

@ Built-in safety check valves.

Fl
. M _|.5
N
A:Bore J :
B:Stroke L
5
') . . % W E ol o
I \H r

B-11 ‘ ‘
]

W7818 SPECIFICATIONS

I (TR Effactive Piston Area Max.Draw Max. Operating | ‘... | BEEE Weight |Moment of|
MODEL | Piston Stroke oy el Bar Pull Pressure MPa | | oo\ ane (Max-Speed =\ | inertia
(mm) Push Side | Pull Side |5 Pull side> <sif¥ Pull side> | —, " | (rpm.) (gt )
Shaide | PylBIde | KNkt {igticnm)
MS105C 20 84 79 29(2957) 4,0(40.8) 0.8 6,000 7.6 |0.0125
MS125C 25 120 | 113 42{4283) 4.0(40.8) 0.8 6000 @ 105 | 0.022
MS150C 30 174 180 BO(6118) 4.0(40.8) 0.8 5,500 14 | 0.047
MS200C 35 312 290 108(11013) 4.0(40.8) 0.8 5500 | 22,5 | 0.087
BRJ% DIMENSIONS
2 la|Blc|p|E|F|le| H |J|K|L|M|N |l Q R|S|T
MS105C |105| 20 135 100| 80 30| 21 [M20X25 35| 252|163 | 89 (152 45 [ 25 &-M10X20 158 | 23 | 41
MS1256C |125| 25 160 130 11:}- 35 | 26 mea.ui 44 | 260|163 | 97 160 | 51 Eﬁ. B-M12X24 166 | 23 | 41
MS150C |[150| 30 [190/130|110 45| 31 |M30X3.5 45|269(163 106|169 | 56 | 26 12-M12X24 175 | 23 | 41
Hﬁiﬂﬂb _zuu' as 2455145 12::-'- 55 | a7 M.‘JEK-H]E &0 | 288 (166 122 .'IHE 69 | 34 12-M18X30 189 | 28 | 48
W RN R0 4.0MPal40.8 kgiam®) B Draw bar pull force:Pressure 4.0MPa[40.8 kg'em®)
B EER - ] 3.0MPa(30.6 kgiem®) BHES0 C B Total leakage Pressure 3.0MPai30.6 kg/cm*and oil temperture 50 C

W ITEEM S BESS16-329-E4-Y(BALLUFF) DC 12/24V 200mA NPN M Proximity switch:Model BES516-329-E4-YOBALLUFF) DC12/24V 200mA NPN

W - B 652 - F® - RE PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVIGE - QUALITY



o SO H BRI 527K E

HYDRAULIC CYLINDER COOLANT
COLLECTOR

CM-B

 SERIES

o UZETERERERDKOY - .
® Hydraulic cylinder coolant collector.
Compact and light weight, the feature is the
bore size up to 20% larger than conventional
cylinders. Precision finished piston
bores and cool running rofary unions have
trouble-free performance for years.

WM< 73k DIMENSIONS

B & HIEEEL

A B c D E F G H Imin | Matching

cylinder
CMOBB 78 61 42 84 115 60.5 S0 & 22 RC-4
CMi0B 78 75 42 B 1e 60.5 280 & 22 RC-&
CMi12B 118 a7 42 885 131 76 107 (= 23 RC-6
CMis5B 1658 a8 44 B8.5 151 96 147 6 23 RC-8
CM18B 158 123 44 Ba8.5 151 06 147 6 23 RC-10
CmMz20B i 158 i 140 44 BB.5 151 ‘ o6 [ 147 6 22.5 I RC-12
cCM258B 198 180 44 105 215 126 200 & 25 RC-15

m BE - B - B4E - 1 - B E PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



oS, o {E ST T\

STANDARD HARD JAW

SERIES

‘x
L oy
: . 8 7
|
Drawing of Serration
=
_‘ 4
m ——
e @ 04 1 OO0
' ; T
yi -7
J1 ] J-2 J-1
B I ‘ J-6 J-8 S
z £ | -
= o Bp |t
ke V
- =2 L}
- | Ea l!;l
1 Ly :2{
o L LLF | oo R = =" =
11d \ -tz \ﬁ_ Ldn \U_-Jz_\.ﬂtﬁ ‘.H‘
! S-ln:ti;m
Fig A Fig B
MR 5% DIMENSIONS
H J=-1 | J-2 J-3 J-4 | J-5 | J-6 | J-T | J-8 | J-9 |J-10|J-11 J-12 (J-13 HIEEHEEE S
Serration | Reference
HJOS5 B3 23 27.5 I 10 & 30.5 14 25.5 13.6 B.5 10 ¥ P 8 1.5X&0% B
HJO6 e87.5 | 32 ‘as 12 5 30 20 | =2a5 | 17 11 12 M0 10 |1.5X80°| B
HJOB 86 a5 51 14 5 31 25 18 19 13 12 | M12 | 12 [1.8X80°| A
HJ10 89.5 | 40 B4 16 5 43 a0 17 19 13 13 | M12 | 15 [1.BX80°( A
HJ12 103 50 52 21 5 625 | 30 |405 | 25 17 17  MI18 | 30 [1.68X60°| B
HJ12-1 103 50 52 18 [ 625 | 30 |405 | 22 15 17 | Mi4 | 30 |[1.6X60°

HJ15 149 B2 BE =22 B &3 43 34 az 29 20 M20 40 | 1.5Xe0%| A
HJ15-1 149 B2 B8 | 26.5 5 83 43 34 32 21 20 mM20 | 40 | 1.5X60°
HJ-2Z1 165 | 65 20 25 o |104.5| 50 55 32 21 40 | M20 | 55 |(3.0=80 | B

N BE ¢F PF 5K PROFESSIONAL « HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY _



Yot $EE A TN

STANDARD SOFT JAW

B E

25
-
1.3

Ly}
(@ F@) (AR\W/ERY rj
ST/, NP/ n‘\
J=1 J-2
J-B J-7 J-8

L L

— !-

o i !

= - |

s o o 3 :

53 :

i
J-10) B \J12 -14
I Serration J-4
BRTF DIMENSIONS
B FHModel | J-1 | J-2 | J-3 | J-4 |J-5 [J-6 | J-7 | J-B | J-9 (J-10|J-11(J-12|J-13 J-14] FHEEE

HCOD4a 48.5 23 23 10 4 10 144 25.5 : 13.5 8.5 14 rAS e 1.5xEG0
HCoOSs5 54 23 =5 10 <4 12 143 =8 135 8.5 16 rAS 5 1. 560
HCOG [=1=] az= =8 12 5 12 20 34 17 11 16 M1 5 12 1.5X60°
HCO8 a5 as aa 14 5 24 25 46 19 13 23 Mi12 12 20 1.5XE60°
HC10 110 4y 42 16 & a0 a0 50 19 13 27 M2 18 20 1.5x60°
HC12 1340 50 50 21 & 38 20 &0 25 17 30 MI1E 18 230 1. 5xE0~
HC12-1 134 50 50 18 &5 39 30 G50 =23 15 30 M4 18 30 1, 5x60°
HC15 1655 62 &2 22 a 37 43 85 a2 21 a8 Mo 1.5X&0°
HC15-1 125 | 80 | 80 |288 | S 26 | 43 | & | az 21 | 3s | m20| - . 1.5XB0°
HC-21 186 (| 82 | VO 25 9 40 80 B | 32 21 48 | M20 | - - 3.0=60°

m BE - B - 55F - W% - 5B PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY




5 BJIFEBEE R

CL

POWER OPERATED COLLET CHUCK SERIES
P
I , L —
=
E
T =
ABICIDIE|F| G =
4
i [ II 1
_-—-—I n ;
—L. [ Jr—
- ‘!
"y
M
N L
B RT3 DIMENSIONS
iz ]
rRY Model | ©f 30-A4 | CL36-A5 | CL42-A5 | CL42-A6 | CL52-A5 | CL52-A6 | CL60-A6 A CLG60-A8 CL8D-AS8
Dim
HI:.BpHu:I TO000 BO00 6000 6000 B000 &000 5000 5000 4000
Steel Collet 163E | 171E 173E 173 | 177E 177E 185E 185E 193E
A 112 135 135 170 135 170 170 220 220
B 82.6 1048 | 1048 | 1334 | 1048 | 1334 | 1334 | 1714 | 1714
C B63.5 82.56 B2.58 106.36 82.56 106.36 106.36 1398.7 138.7
D ME0OxP1.5 | MBExP1.5 | MBEXP1.5 | MBEBxP1.5 | M70xP1.5 | MO0xP1.5 | MO0OxP1.5 MS0xP1.5 M114xP2.0
E 45 B2 82 66 62 (3131 BB a0 108
F M40xP1.5 | M55xP2.0 | M55xP2.0 | MB0OxP2.0 | M55xP2.0 | ME0xP2.0 | MB0xP2.0 MB&xP2.0 ?EM1meE.ﬂ
G 20 30 30 30 30 30 30 30 30
K 23 23 23 23 23 a1 31 3 31
M max 215 26 26 29 26 33 33 a3 34
M min 16.5 21 21 24 21 28 28 28 29
N 30 27 27 a2 27 27 27 a7 a5
d 30 36 42 42 52 52 60 60 80
0 BY 103 103 103 113 132 132 132 155
L 110 129 129 133 129 155 155 : 155 | 175
P 3-M10x30 | 4-M10x30 | 4-M10x30 | 4-M12x30 | 4-M10x30 | 4-M12x30 | 4-M12x30 4-M16x35 B6-M16x35
Q 8 8 8 B B 8 8 i a8 11

W% WF  E FF - 2E PROFESSIONAL - HIGH PRECISION - HicH speen - seavice - quauy ETEIN




STEEL COLLET

BRJ&R DIMENSIONS

ed

Rt Max Dia
A B d L
s
Maodel &) o 3
163E 39 49 35 B0 a0 27 22
1T1E 42 Li1a 42 94 a7 32 26
173E 50 B0 48 O 42 38 28
177E G0 T 58 94 52 45 36
1B5E 73 B4 66 110 B0 B0 40
1893E a2 107 90 130 B0

(%]=]

POWER OPERATED COLLET CHUCK

Alelc|ple|FlG
M
M
BR Y% DIMENSIONS L
RY
Mmﬂﬁnncn F |G|K L | mMm|mMm|d|oO P
Model Collet max | min | max
CL44-A5 | C44 135 |104.8 |82.56 | M70xP1.5| 62 (M55xP2.0| 30 | 23 (121 | 27 | 22 | 44 | 113 | 27 |4-M10x30

BTN = w= o BB S5 PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY




Uomsrann” Sh I ¥E R E I EE
POWER OPERATED COLLET CHUCK

d max
o

B RT3% DIMENSIONS

R

Dim |Steel A | B | C D E F G H|lK L M M| d O N P Z
EEI-I Collet max min |max
CL36-140D|171E 155|140 |126 |104.8|MB6xP1.5| 62 M55xP20| 30 (23 1135 5 | 0 | 36 (103 4-M10x25
CL42-140D|173E 155|140 | 126 [104.8 | MB6xP1.5| 62 | M55xP2.0| 30 | 23 5113.55 5 0 |42 1103 4-M10x25
CL52-170D|177E 185|170 (152 |133.4 M90xP1.5| 90 | MB5xP2.0| 30 | 31 139 11| 6 | 62 [132 4-M12x25
CLE60-170D| 185E 185|170 |152 |133.4 | M20xP1.5| 90 M85xP2.0| 30 (31 139 | 11| & | 60 (132 4-M12%x25

W WS OG- R BH PROFESSIONAL - HIGH PRECISION - HiGH seeen - service - aualTy BN




b E S

O CNCEE A A]

@ EEEDDEEHEE
@ BEEESXR

@ BEEHM - Bm

PROFESSIONAL MANUFACTURE OF

@ POWER CHUCK FOR CNC LATHE

@ HIGH SPEED HOLLOW HYDRAULIC CYLINDER
@ COLLET CHUCK

@ HIGH PRECISION HARD JAWS AND SOFT JAWS

BREXEBIDBRAT

TON FOU ENTERPRISE CO., LTD.
BPHAREAEIE4615R

NO. 461, Dali Rd., Dall District, Taichung
City, Taiwan.

TEL:886-4-24079695 FAX:886-4-24066186
E-Mail:tonfou@ms26.hinet.net
Http:www.tonfou.com

2011.19%




